Statal/ whitepapers

reshape - wide/long 0000 O0O0OO O

reshape 0 wide 0000000 longOD OO 0Olong0 000000 wideOOOOOOOOOOOOOOOO

1.00000
2. wide OO longO0 OO0 oo 1
3. long 00 wideOJO OO ogd 2
4. 000000 od3
00 4
1. 00000

Stata 000000000000 wideOODO long0 0000000000000 OO0DOODOOOOOODOO
O000C0C wideDOOODOOOOOOO longODOOOOOoOoOOO

T X e 1 J Xij
id company rev2013 rev2014 rev2015 id company year rev
1 namel 120 130 110 1 namel 2013 120
2 name2 410 320 240 1 namel 2014 130
3 name3 720 770 950 1 namel 2015 110
2 name2 2013 410
2 name2 2014 320
2 name?2 2015 240
3 name3 2013 720
3 name3 2014 770
3 name3 2015 950

01 wideOOO long OO
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Statal/ whitepapers

Stata 000000000 longO00O0O0ODOOODOODOODODODOOODODODO wideOOOOODOOODOODODOO
goobbooobobbooobbbooobbbooobboo0bobbo0o0obbOd reshape 00
00000o000o000O0000+:000,;000X,;000000000000000000 100000
00000000000 00oo0Doo0000 wideODOOOOOj0000000000DODOOOOOOOO
000000000 X,; 00 j000000000000O000DO0O0O0O0O0OO0

2. wideOO longO OO0

>O01

O0000000000000000 wideDODOOOODODOOO rvwidel.dta0000000000O0O

. use http://www.math-koubou.jp/stata/datald/rvwidel.dta

. list *L
id conmpany rev2013 rev2014 rev2015
1. 1 namel 120 130 110
2. 2 name2 410 320 240
3. 3 name3 720 770 950

000 long0 0000000000000 00000O0O0O0OOOOOO

o000 id0000

o X;; 000 rev2013, rev2014, rev20150 300000000000 (stub) O revO 000

0 X;; 00000000000 700000 2013,2014,2015600000000000000000
year OO QOOOO

U000 reshape U0 0000O0O0O0O0O0O0COOOOOOOOOOO

e Data > Create or change data > Other variable-transformation commands > Convert data between wide
and long 00O 0O
e reshape 0000 : Long format from wide 0000000
ID variable(s) - the i() option: id
Subobservation identifier - the j() option: Variable: year

Base (stub) names of X_ij variables: rev

*1 0000000 Data > Describe data > List data
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[Z] reshape - Convert data between wide and long = L=

@ Lone format from wide

1 Wide format from long
" Back 1o lone format (previously reshaped)
) Back to wide format (previously reshaped)

ID varishle(z) = the iD optior:
a B
Subobservation identifier — the j{} option
Wariahle: Waluez: (optional)

year [~]

| Allow the subobservation identifier 1o inchde strines

Basze (stub) names of X_ij varisbles:
e [=]

Mote: All other variables should be constant within 1D,

QO & 0K | Cangel | [ Submit |

O 2 reshape 0000

reshape long rev, i(id) j(year)

(note: j = 2013 2014 2015)

Dat a wi de -> | ong

Nurber of obs. 3 -> 9
Nunber of vari abl es 5 -> 4
j variable (3 val ues) -> year

Xij variabl es:
rev2013 rev2014 rev2015 -> rev

oobooobooooooooobOoOoooOoboOooboOoooboooo
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. list, sepby(id)

id year conpany rev
1. 1 2013 namel 120
2. 1 2014 nanmel 130
3. 1 2015 namel 110
4. 2 2013 name2 410
5. 2 2014 name2 320
6. 2 2015 name2 240
7. 3 2013 name3 720
8. 3 2014 name3 770
9. 3 2015 name3 950

ooboooooooooo

3. long00 wideOODOO

>00 2

ooboooooooooo

4. 0JO00ooo

>00 3

ooboooooooooo

>00 4

oobooooooooooo



